



2021 International Tuition Fees





Key

NUMBER OF SESSIONS:

Minimum number of sessions to complete the course

INTAKE:

S1 = Autumn Session (February); **S2** = Spring Session (July)

FEES:

Tuition fees shown in Australian Dollars per session

Tuition fees are reviewed annually. Fees payable are dependent on the year of commencement and are subject to increase during the period of study. The indicative total course tuition fee shown is an estimate based on normal course length and progression, and the current tuition fee.

Dean's Scholar and Advanced degrees with the same duration as the related standard degree have not been listed separately as they have the same fee per session. Only Advanced degrees with a different duration to the standard degree have been listed separately below.

For further details of Dean's Scholars and Advanced programs available, including intakes and mode of delivery, search UOW Course Finder – **coursefinder.uow.edu.au**

Undergraduate coursework degrees

Business and Law	NUMBER OF SESSIONS	INTAKE	FEE PER SESSION (\$AUD)	INDICATIVE TOTAL FEE (\$AUD)
Bachelor of Business	6	S1 & S2	\$15,120	\$90,720
Bachelor of Commerce	6	S1 & S2	\$15,120	\$90,720
Bachelor of Economics and Finance	6	S1 & S2	\$15,120	\$90,720
Bachelor of Laws (Graduates only)	6	S1	\$18,000	\$108,000
Bachelor of Laws^	8	S1	\$17,112	\$128,340

 $^{\scriptscriptstyle \wedge}$ Fee per session based on completion of 24 cp to a total of 180cp for the degree

Engineering and Information Sciences	NUMBER OF SESSIONS	INTAKE	FEE PER SESSION (\$AUD)	INDICATIVE TOTAL FEE (\$AUD)
Bachelor of Applied Analytics*	6	S1	\$16,920	\$101,520
Bachelor of Business Information Systems	6	S1 & S2	\$16,920	\$101,520
Bachelor of Computer Science	6	S1 & S2	\$16,920	\$101,520
Bachelor of Data Science and Analytics	6	S1	\$16,920	\$101,520
Bachelor of Engineering (Honours) (Double Majors)	10	S1 & S2	\$18,768	\$187,680
Bachelor of Engineering (Honours) (Single Major)	8	S1 & S2	\$18,768	\$150,144
Bachelor of Information Technology	6	S1 & S2	\$16,920	\$101,520
Bachelor of Mathematics	6	S1 & S2	\$16,920	\$101,520
Bachelor of Mathematics Advanced	6	S1 & S2	\$16,920	\$101,520
Bachelor of Mathematics and Finance (Honours)	8	S1 & S2	\$16,920	\$135,360
Bachelor of Medical and Radiation Physics Advanced (Honours)	8	S1 & S2	\$18,768	\$150,144
Bachelor of Medical and Radiation Physics	6	S1 & S2	\$18,768	\$112,608
Bachelor of Medical and Radiation Physics Advanced (Honours)	8	S1 & S2	\$18,768	\$150,144
Bachelor of Medical Mathematics	6	S1 & S2	\$16,920	\$101,520
Bachelor of Science Advanced (Honours) (Physics, Atmospheric Science, Biomolecular Physics)	8	S1 & S2	\$18,768	\$150,144
Bachelor of Science (Atmospheric Science, Biomolecular Physics, Materials Nuclear Science & Technology, Physics)	'6	S1 & S2	\$18,768	\$112,608

*Subject to final course approval

Arts, Social Sciences and Humanities	NUMBER OF SESSIONS	INTAKE	FEE PER SESSION (\$AUD)	INDICATIVE TOTAL FEE (\$AUD)
Bachelor of Arts	6	S1 & S2	\$13,296	\$79,776
Bachelor of Arts (Psychology)	6	S1 & S2	\$16,224	\$97,344
Bachelor of Communication and Media	6	S1 & S2	\$14,088	\$84,528
Bachelor of Creative Arts	6	S1	\$13,704	\$82,224
Bachelor of Education - The Early Years	8	S1	\$13,824	\$110,592
Bachelor of Geography	6	S1 & S2	\$15,720	\$94,320

Bachelor of Health and Physical Education	8	S1	\$13,824	\$110,592
Bachelor of Mathematics Education	8	S1	\$13,824	\$110,592
Bachelor of Performance and Theatre	6	S1	\$13,296	\$79,776
Bachelor of Politics, Philosophy and Economics	6	S1 & S2	\$13,296	\$ 79,776
Bachelor of Primary Education	8	S1	\$14,232	\$113,856
Bachelor of Psychological Science	6	S1 & S2	\$16,224	\$97,344
Bachelor of Psychology (Honours)	8	S1	\$16,224	\$129,792
Bachelor of Public Health	6	S1	\$15,624	\$93,744
Bachelor of Science (Human Geography, Environment and Heritage Management)	6	S1 & S2	\$16,200	\$97,200
Bachelor of Science Education	8	S1	\$13,824	\$110,592
Bachelor of Social Science	6	S1 & S2	\$13,296	\$79,776
Bachelor of Social Work	8	S1	\$13,296	\$106,368
Bachelor of Sustainable Communities	6	S1 & S2	\$13,296	\$79,776

Science, Medicine and Health	NUMBER OF SESSIONS	INTAKE	FEE PER SESSION (\$AUD)	INDICATIVE TOTAL FEE (\$AUD)
Bachelor of Bionanotechnology (Honours)	8	S1	\$16,056	\$128,448
Bachelor of Conservation Biology (Honours)	8	S1	\$16,056	\$128,448
Bachelor of Environmental Science (Honours)	8	S1	\$16,056	\$128,448
Bachelor of Exercise Science	6	S1	\$15,672	\$94,032
Bachelor of Exercise Science and Rehabilitation	8	S1	\$15,864	\$126,912
Bachelor of Marine Science (Honours)	8	S1 & S2	\$16,056	\$128,448
Bachelor of Medical and Health Sciences	6	S1	\$15,816	\$94,896
Bachelor of Medical Biotechnology (Honours)	8	S1	\$16,056	\$128,448
Bachelor of Medicinal Chemistry (Honours)	8	S1	\$16,056	\$128,448
Bachelor of Nursing	6	S1	\$15,216	\$91,296
Bachelor of Nutrition and Dietetics (Honours)	8	S1	\$15,864	\$126,912
Bachelor of Nutrition Science	6	S1	\$15,672	\$94,032
Bachelor of Pre-Medicine, Science and Health	6	S1	\$16,056	\$96,336
Bachelor of Science (Cell & Molecular Biology, Chemistry, Ecology & Conservation Biology, Environment or Geology and Physical Geography)	6	S1	\$15,864	\$95,184

DOUBLE DEGREES:

For information on fees, duration and intakes for double degrees, please visit UOW Course Finder – **coursefinder.uow.edu.au**

Key

NUMBER OF SESSIONS OR TRIMESTERS:

Minimum number of sessions or trimesters to complete the course

INTAKE:

S1 = Autumn Session (February);**S2** = Spring Session (July)

T1 = Trimester 1 (February); **T2** = Trimester 2 (May);

T3 = Trimester 3 (August)



Tuition fees shown in Australian Dollars per session or trimester

Postgraduate coursework degrees

Business and Law	NUMBER OF SESSIONS	INTAKE	FEE PER SESSION (\$AUD)	INDICATIVE TOTAL FEE (\$AUD)
Graduate Certificate in Applied Finance	2	т1, тз	\$7,848	\$15,696
Graduate Certificate in Business	2	T1, T2, T3	\$7,848	\$15,696
Graduate Certificate in Maritime Studies	1	S1 & S2	\$14,976	\$14,976
Graduate Certificate in Professional Accounting	2	т1, тз	\$7,848	\$15,696
Master of Applied Finance (Financial Services)	4	т1, тз	\$11,772	\$47,088
Master of Applied Finance (Investing)	4	т1, тз	\$11,772	\$47,088
Master of Applied Finance (Investing & Financial Services)	6	т1, тз	\$11,772	\$62,784
Master of Business*	4	T1, T2, T3	\$11,772	\$47,088
Master of Business Administration	4	T1, T2, T3	\$15,048	\$60,192
Master of Business Administration Advanced	6	T1, T2, T3	\$15,048	\$80,256
Master of Business Analytics*	4	T1, T2, T3	\$11,772	\$47,088
Master of Financial Management*	4	T1, T2, T3	\$11,772	\$47,088
Master of Fisheries Policy	2	S1 & S2	\$14,976	\$29,952
Master of Human Resource Management*	4	T1, T2, T3	\$11,772	\$47,088
Master of Innovation & Entrepreneurship*	4	T1, T2, T3	\$11,772	\$47,088
Master of International Business*	4	T1, T2, T3	\$11,772	\$47,088
Master of Laws (Criminal Practice)	2	S1 & S2	\$18,144	\$36,288
Master of Maritime Policy	2	S1 & S2	\$14,976	\$29,952
Master of Management*	4	T1, T2, T3	\$11,772	\$47,088
Master of Marketing*	4	T1, T2, T3	\$11,772	\$47,088
Master of Professional Accounting	4	т1, тз	\$11,772	\$47,088
Master of Professional Accounting (Advanced)	6	т1, тз	\$11,772	\$62,784
Master of Project Management*	4	Т1, Т2, Т3	\$11,772	\$47,088
Master of Supply Chain Management*	4	Т1, Т2, Т3	\$11,772	\$47,088
2 year Master + Master Package	6	T1, T2, T3	\$11,772	\$70,632

Fees shown for Masters degrees for the Sydney Business School are based on a normal load of 3 subjects per trimester. The fee for the Graduate Certificate is based on a normal load of 2 subjects per trimester.

*Available as a 2 year option if packaged with another Master's degree with an *. Students will receive 6 subjects credit to complete both Master's in 2 years.

Engineering and Information Sciences	NUMBER OF SESSIONS	INTAKE	FEE PER SESSION (\$AUD)	INDICATIVE TOTAL FEE (\$AUD)
Graduate Certificate in Computing	1	S1 & S2	\$16,920	\$16,920
Graduate Certificate in Engineering	1	S1 & S2	\$18,768	\$18,768
Graduate Certificate in Engineering Asset Management	2	S1 & S2	\$9,384	\$18,768
Graduate Diploma in Engineering	2	S1 & S2	\$18,768	\$37,536
Master of Computer Science	4	S1 & S2	\$17,184	\$68,736
Master of Engineering	4	S1 & S2	\$18,768	\$75,072
Master of Engineering Asset Management	4	S1 & S2	\$9,384	\$37,536

Master of Engineering Management	2	S1 & S2	\$18,768	\$37,536
Master of Engineering Science (Computer Engineering, Electrical Engineering, Telecommunications Engineering)	2	S1 & S2	\$18,768	\$37,536
Master of Financial Mathematics	4	S1 & S2	\$16,920	\$67,680
Master of Health Informatics	4	S1 & S2	\$16,920	\$67,680
Master of Information and Communication Technology Advanced	4	S1 & S2	\$16,920	\$67,680
Master of Information Technology	4	S1 & S2	\$16,584	\$66,336
Master of Mathematics	4	S1 & S2	\$16,920	\$67,680
Master of Professional Computing*	2	S1 & S2	\$16,920	\$33,840
Master of Science (Medical Radiation Physics)	4	S1 & S2	\$19,704	\$78,816
Master of Statistics	4	S1 & S2	\$16,920	\$67,680
*Subject to final course approval				

Arts, Social Sciences and Humanities	NUMBER OF SESSIONS	INTAKE	FEE PER SESSION (\$AUD)	INDICATIVE TOTAL FEE (\$AUD)
Graduate Certificate in Education	1	S1 & S2	\$13,824	\$13,824
Graduate Certificate in Tertiary Teaching and Learning Practices	1	S1 & S2	\$13,824	\$13,824
Graduate Certificate in TESOL	1	S1 & S2	\$13,824	\$13,824
Graduate Diploma in Adult and Vocational Education	2	S1 & S2	\$13,560	\$27,120
Graduate Diploma in TESOL	2	S1 & S2	\$13,824	\$27,648
Graduate Diploma in Work Health and Safety	2	S1	\$16,296	\$32,592
Master of Autism	3	S1 & S2	\$13,176	\$39,528
Master of Education	3	S1 & S2	\$13,560	\$40,680
Master of Education Extension	4	S1 & S2	\$13,560	\$54,240
Master of Psychology (Clinical)	4	S1	\$16,296	\$65,184
Master of Public Health	3	S1 & S2	\$14,856	\$44,568
Master of Public Health Extension	4	S1 & S2	\$14,856	\$59,424
Master of Social Work (Qualifying)	4	S1 & S2	\$15,816	\$63,264
Master of Teaching (Primary)	4	S1	\$12,672	\$50,688
Master of Teaching (Secondary)*	4	S1	\$12,312	\$49,248
Master of Work Health and Safety	3	S1 & S2	\$16,296	\$48,888
Master of Work Health and Safety Advanced	4	S1 & S2	\$16,296	\$65,184

Science, Medicine and Health	NUMBER OF SESSIONS	INTAKE	FEE PER SESSION (\$AUD)	INDICATIVE TOTAL FEE (\$AUD)
Master of Conservation Biology	4	S1 & S2	\$15,696	\$62,784
Master of Clinical Exercise Physiology	3	S1	\$15,912	\$47,736
Master of Earth & Environmental Sciences	4	S1 & S2	\$15,696	\$62,784
Master of Global Science & Management	4	S1 & S2	\$15,696	\$62,784
Master of Medical Biotechnology	4	S1 & S2	\$15,696	\$62,784
Master of Medicinal Chemistry	4	S1 & S2	\$15,696	\$62,784
Master of Nursing (Mental Health)	3	S1 & S2	\$14,856	\$44,568
Master of Nursing International	4	S1 & S2	\$14,856	\$59,424
Master of Nutrition and Dietetics	4	SI	\$15,912	\$63,648
Master of Science > Leadership in Gerontology & Rehabilitation Studies > Person Centred Dementia Care	3	S1 & S2	\$15,000	\$45,000
Doctor of Medicine (MD)	8	S1^	\$30,960	\$247,680

Postgraduate research degrees

The following indicates the fees, duration and normal intakes for Higher Degree Research programs offered by each faculty. Please search UOW Course Finder for details of specific study areas available in each course – **coursefinder.uow.edu.au**

Business and Law	NUMBER OF SESSIONS	INTAKE	FEE PER SESSION (\$AUD)	INDICATIVE TOTAL FEE (\$AUD)
Master of Research	4	S1 & S2	\$15,456	\$61,824
Doctor of Philosophy	8	S1 & S2	\$15,456	\$123,648
Doctor of Philosophy Integrated	8	T1 & S2	\$15,456	\$123,648
Master of Philosophy	4	S1 & S2	\$15,456	\$61,824
LAW, MARITIME STUDIES				
Doctor of Philosophy	8	S1 & S2	\$15,624	\$124,992
Doctor of Philosophy Integrated	8	S1 & S2	\$15,624	\$124,992
Master of Philosophy	4	S1 & S2	\$15,624	\$62,496

Engineering and Information Sciences	NUMBER OF SESSIONS	INTAKE	FEE PER SESSION (\$AUD)	INDICATIVE TOTAL FEE (\$AUD)
Master of Research	4	S1 & S2	\$20,016	\$80,064
ENGINEERING, PHYSICS, MEDICAL RADIATION PHYSICS				
Doctor of Philosophy	8	S1 & S2	\$19,656	\$157,248
Doctor of Philosophy Integrated	8	S1 & S2	\$19,656	\$157,248
Master of Philosophy	4	S1 & S2	\$19,656	\$78,624
COMPUTER SCIENCE, INFORMATION SYSTEMS, INFORMATION TECHNOLOGY,	MATHEMATICS, STAT	ISTICS		
Doctor of Philosophy	8	S1 & S2	\$16,992	\$135,936
Doctor of Philosophy Integrated	8	S1 & S2	\$16,992	\$135,936
Master of Philosophy	4	S1 & S2	\$16,992	\$67,968

Arts, Social Sciences and Humanities	NUMBER OF SESSIONS	INTAKE	FEE PER SESSION (\$AUD)	INDICATIVE TOTAL FEE (\$AUD)
ARTS				
Doctor of Philosophy	8	S1 & S2	\$14,256	\$114,048
Doctor of Philosophy Integrated	8	S1 & S2	\$14,256	\$114,048
Master of Philosophy	4	S1 & S2	\$14,256	\$57,024
Master of Research	4	S1 & S2	\$14,136	\$56,544
CREATIVE ARTS				
Doctor of Creative Arts	8	S1 & S2	\$14,136	\$113,088
Doctor of Philosophy	8	S1 & S2	\$14,136	\$113,088
Doctor of Philosophy Integrated	8	S1 & S2	\$14,136	\$113,088
Master of Philosophy	4	S1 & S2	\$14,136	\$56,544
Master of Research	4	S1 & S2	\$14,136	\$56,544
EDUCATION				
Doctor of Education	8	S1 & S2	\$13,872	\$110,976
Doctor of Philosophy	8	S1 & S2	\$13,872	\$110,976
Doctor of Philosophy Integrated	8	S1 & S2	\$13,872	\$110,976
Master of Philosophy	4	S1 & S2	\$13,872	\$55,488
Master of Research	4	S1 & S2	\$17,640	\$70,560
PSYCHOLOGY				
Doctor of Philosophy	8	S1 & S2	\$17,640	\$141,120
Doctor of Philosophy Integrated	8	S1 & S2	\$17,640	\$141,120
Master of Philosophy	4	S1 & S2	\$17,640	\$70,560

Doctor of Philosophy (Clinical Psychology)	8	S1	\$17,640	\$141,120
HUMAN GEOGRAPHY, PUBLIC HEALTH, WORK HEALTH & SAFETY				
Doctor of Philosophy	8	S1 & S2	\$17,640	\$141,120
Doctor of Philosophy Integrated	8	S1 & S2	\$17,640	\$141,120
Master of Philosophy	4	S1 & S2	\$17,640	\$70,560
Doctor of Public Health	8	S1 & S2	\$17,640	\$141,120
Master of Research	4	S1 & S2	\$17,640	\$70,560
SOCIAL WORK				
Master of Philosophy	4	S1 & S2	\$17,112	\$68,448

Science, Medicine and Health	NUMBER OF SESSIONS	INTAKE	FEE PER SESSION (\$AUD)	INDICATIVE TOTAL FEE (\$AUD)
Master of Research	4	S1 & S2	\$18,120	\$72,480
HEALTH AND MEDICAL				
Doctor of Philosophy	8	S1 & S2	\$17,304	\$138,432
Doctor of Philosophy Integrated	8	S1 & S2	\$17,304	\$138,432
Master of Philosophy	4	S1 & S2	\$17,304	\$69,216
SCIENCES				
Doctor of Philosophy	8	S1 & S2	\$18,120	\$144,960
Doctor of Philosophy Integrated	8	S1 & S2	\$18,120	\$144,960
Master of Philosophy (Lab Based)	4	S1 & S2	\$18,600	\$74,400
Master of Philosophy (Non-Lab Based)	4	S1 & S2	\$18,120	\$72,480